
=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%������.20387(52:$��7\J������

�������������7\J������
�����

(NRQRPLD�GOD�SUDZQLNyZ
�üZ�� GU�.XU]DN�0DEURXN
$QQD� =%�����
.20387(52:$� ���
35$�'����&�

�������������7\J��������
���������

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�/����/$%�

�������������7\J��������
���������

3RGVWDZ\
UDFKXQNRZRĞFL��üZ�� GU
%DJLĔVND�,]DEHOD� =%�
�����.20387(52:$�
���5,3�/����û:�

=DMĊFLD�RG����W\J�
]PLHQLRQD�GDWD

�������������7\J��������
��

7HFKQRORJLH
LQIRUPDF\MQH��ODE�� GU
6NZDUD�$QGU]HM� =%�����
.20387(52:$� ���
-1*�/����:

:�W\J�����������������

�������������7\J�����

.RUHVSRQGHQFMD
KDQGORZD�L�XU]ĊGRZD
�ODE�� GU�1LHPLHF�.QDĞ
0DáJRU]DWD�SURI��8-'� =
%�����
.20387(52:$� ���
)*�/����:

=DMĊFLD�GOD�VSHFMDOL]DFML
WáXPDF]HQLRZHM

�������������7\J������

31-1�Z�EL]QHVLH�
SLVDQLH��ODE�� GU�1LHPLHF�
.QDĞ�0DáJRU]DWD�SURI�
8-'� =%�����
.20387(52:$� ���
-1*�/����:

�������������7\G]���

0HWRG\�EDGDĔ�VSRáHF]QR�
HNRQRPLF]Q\FK�L�DQDOL]D
GDQ\FK��üZ�� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
$'0�0����&�

�������������7\J���������
�������������

:VSyáF]HVQD�OLWHUDWXUD
QLHPLHFNRMĊ]\F]QD
�NRQZHUV�� GU�KDE�
6]\QGOHU�$QQD��SURI�
8-'� =%�����
.20387(52:$� ���
)*�0����:

Z�W\J�����������������

�������������7\J��������
���������

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�/����/$%�

SR
QL

HG
]L

Dã
HN

�������������7\J������
�����

6HPLQDULXP�G\SORPRZH�
GU�5RJDFND�àXNDVLN
$QQD� =%�����
.20387(52:$� ���
35$�'����:

�������������7\G]��

31-$��VSUDZQRĞFL
]LQWHJURZDQH� PJU
3\]LDN�$JQLHV]ND� %LJ
%OXH�%XWWRQ��=%�����
.20387(52:$� ���
)$�/����/��&+�)5

2G�W\J����]DMĊFLD�RQOLQH

�������������7\J�����

0DWHPDW\ND��]DM�
GRVNRQDOąFH�01L6:�� '
U�.\U\O\FK�7DPDUD� =%�
�����.20387(52:$�
���5,3�/����û:������
5,3�/����û:�

Z
WR

UH
N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%������.20387(52:$��7\J������

�������������7\J�����

0DWHPDW\ND��]DM�
GRVNRQDOąFH�01L6:�� '
U�.\U\O\FK�7DPDUD� =%�
�����.20387(52:$�
���(.2�/����&������
(.2�/����&�

�������������7\J��������
�������������

$QDOL]D�ILQDQVRZD
SU]HGVLĊELRUVWZD��ZDU��
GU�8UEDĔVND�.DPLOD� =%�
�����.20387(52:$�
���5,3�/����:$5�

SLHUZV]H�]DMĊFLD����PLQ�
�Z�JRG]��������������

�������������7\J���������
�����������������

$QDOL]D�ILQDQVRZD
SU]HGVLĊELRUVWZD��ZDU��
GU�8UEDĔVND�.DPLOD� =%�
�����.20387(52:$�
���5,3�/����:$5�

SLHUZV]H�]DMĊFLD����PLQ�
�Z�JRG]�������������

�������������7\J������
�����

3UDZR�DGPLQLVWUDF\MQH
F]��RJyOQD��ZDU�� GU
.LHGU]\QHN�0LFKDá� =%�
�����.20387(52:$�
���35$�'����:$5�

�������������7\J������
�����

5DFKXQNRZRĞü
]DU]ąGF]D��ZDU�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
(.2�/����:$5

�������������7\J������
�����

(NRQRPLD�HGXNDFML
�ZDU�� GU�.XU]DN�
0DEURXN�$QQD� =%�����
.20387(52:$� ���
(.2�/����:$5

ĤU
RG

D

�������������7\J��������
���������

0HWRG\�EDGDĔ�VSRáHF]QR�
HNRQRPLF]Q\FK�L�DQDOL]D
GDQ\FK��üZ�� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
$'0�0����&�

������
�������7\J
����

7HFKQRORJL
H
LQIRUPDF\M
QH��ODE�� GU
.XUHN
0DáJRU]DWD
� =%�����
.20387(
52:$� ��
�)$�/���
/��1-$�����
)*�/����:

=DMĊFLD�GOD
VSHFMDOL]DF
ML
QDXF]\FLHO
VNLHM

������
�������7\J
����

7HFKQRORJL
H
LQIRUPDF\M
QH��ODE�� GU
.LHáE�
6WDUF]HZV
ND�(ZD� =
%�����
.20387(
52:$� ��
�)$�/���
/��7-6�����
)*�/����:

=DMĊFLD�GOD
VSHFMDOL]DF
ML
WáXPDF]HQL
RZHM

������
�������7\J
����

7HFKQRORJL
H
LQIRUPDF\M
QH��ODE�� GU
.LHáE�
6WDUF]HZV
ND�(ZD� =
%�����
.20387(
52:$� ��
�)$�/���
/��&+�)5�
���)$�/�
���/��7-6

=DMĊFLD�GOD
VSHFMDOL]DF
ML
WáXPDF]HQL
RZHM

F]
Z

DU
WH

N

�������������7\J������
��

0DWHPDW\ND��]DM�
GRVNRQDOąFH�01L6:�� '
U�.\U\O\FK�7DPDUD� =%�
�����.20387(52:$�
���5,3�/����û:������
5,3�/����û:�

�������������7\J��������
���������

6WDW\VW\ND�RSLVRZD��ODE��
GU�8FLHNODN�-HĪ�3DXOLQD�
SURI��8-'� =%�����
.20387(52:$� ���
(.2�/����/$%

�������������7\J���������
�������������

7HFKQRORJLH
LQIRUPDF\MQH��ODE�� GU
6RáW\VLDN�:LROHWWD� =%�
�����.20387(52:$�
���$'0�/����/�

�������������7\J��������
���������

6HPLQDULXP� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
(.2�/����6(0

������������
7\J�����

=%�����
.20387(52
:$� 87:

*583$���]
3DQHP�PJU
0DULXV]HP
.RáRG]LHMF]\NLH
P�

������������
7\J�����

=%�����
.20387(52
:$� 87:

*583$���]
3DQHP�PJU
0DULXV]HP
.RáRG]LHMF]\NLH
P�

������������
7\J�����

=%�����
.20387(52
:$� 87:

*583$���]
3DQHP�PJU
0DULXV]HP
.RáRG]LHMF]\NLH
P�

������������
7\J�����

=%�����
.20387(52
:$� 87:

*583$���]
3DQHP�PJU
0DULXV]HP
.RáRG]LHMF]\NLH
P�

SL
ĈW

HN

�������������7\G]���

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\J����

0HWRG\�EDGDĔ�VSRáHF]QR�
HNRQRPLF]Q\FK�L�DQDOL]D
GDQ\FK��üZ�� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
$'0�6����&�

�������������7\G]��

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\G]��

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\G]���

7HFKQRORJLH
LQIRUPDF\MQH��ODE�� GU
8FLHNODN�-HĪ�3DXOLQD�
SURI��8-'� =%�����
.20387(52:$� ���
$'0�5����/$%��

VR
ER

WD

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%������.20387(52:$��7\J������

�������������7\G]���

7HFKQRORJLH
LQIRUPDF\MQH��ODE�� GU
8FLHNODN�-HĪ�3DXOLQD�
SURI��8-'� =%�����
.20387(52:$� ���
$'0�5����/$%��

�������������7\G]��

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\G]���

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\G]���

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\J������

7HFKQRORJLH
LQIRUPDF\MQH��ODE�� GU
8FLHNODN�-HĪ�3DXOLQD�
SURI��8-'� =%�����
.20387(52:$� ���
$'0�5����/$%��

�������������7\G]��

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\J����

0HWRG\�EDGDĔ�VSRáHF]QR�
HNRQRPLF]Q\FK�L�DQDOL]D
GDQ\FK��üZ�� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
$'0�6����&�

�������������7\G]���

3URJUDP\�NDGURZR�
SáDFRZH��ODE�� PJU
:ROQD�%HDWD� =%�����
.20387(52:$� ���
5,3�5����:<.

������
������
7\G]���

7HFKQRORJL
H
LQIRUPDF\M
QH��ODE�� GU
8FLHNODN�
-HĪ
3DXOLQD�
SURI��8-'�
=%�����
.20387(
52:$� ��
�$'0�5���
/$%��

������
������
7\G]���

7HFKQRORJL
H
LQIRUPDF\M
QH��ODE�� GU
8FLHNODN�
-HĪ
3DXOLQD�
SURI��8-'�
=%�����
.20387(
52:$� ��
�$'0�5���
/$%��

VR
ER

WD

�������������7\G]���

7HFKQRORJLH
LQIRUPDF\MQH��ODE�� GU
8FLHNODN�-HĪ�3DXOLQD�
SURI��8-'� =%�����
.20387(52:$� ���
$'0�5����/$%��

������
������
7\G]���

0HWRG\
EDGDĔ
VSRáHF]QR�
HNRQRPLF]
Q\FK�L
DQDOL]D
GDQ\FK
�üZ�� GU
8FLHNODN�
-HĪ
3DXOLQD�
SURI��8-'�
=%�����
.20387(
52:$� ��
�$'0�6����
:

�������������7\G]���

0HWRG\�EDGDĔ�VSRáHF]QR�
HNRQRPLF]Q\FK�L�DQDOL]D
GDQ\FK��üZ�� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
$'0�6����:

�������������7\G]���

7HFKQRORJLH
LQIRUPDF\MQH��ODE�� GU
8FLHNODN�-HĪ�3DXOLQD�
SURI��8-'� =%�����
.20387(52:$� ���
$'0�5����/$%��

�������������7\G]���

(OHPHQW\�PDWHPDW\NL
�üZ�� 'U�.\U\O\FK
7DPDUD� =%�����
.20387(52:$� ���
5,3�5����:<.

�������������7\G]���

0HWRG\�EDGDĔ�VSRáHF]QR�
HNRQRPLF]Q\FK�L�DQDOL]D
GDQ\FK��üZ�� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
$'0�6����:

�������������7\G]���

0HWRG\�EDGDĔ�VSRáHF]QR�
HNRQRPLF]Q\FK�L�DQDOL]D
GDQ\FK��üZ�� GU�8FLHNODN�
-HĪ�3DXOLQD��SURI��8-'� =
%�����
.20387(52:$� ���
$'0�6����:

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%������.20387(52:$��7\J������

������
������
7\G]���

7HFKQRORJL
H
LQIRUPDF\M
QH��ODE�� GU
8FLHNODN�
-HĪ
3DXOLQD�
SURI��8-'�
=%�����
.20387(
52:$� ��
�$'0�5���
/$%��

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


